o

00mm¢! L|C}.

=2
= Xotofl PITSO| A= 3L, [SE BEINM PITSE F71E = ASLICL
1

o > > = x - B = 13 =
B] - [ZRMYE YE] - [SE YE] - [PITS A8] 23 - 51 ol £ [20l] 2
52 | smsx nmae | A
CAD £ b o
(mm) (mm) = gol
4000 4000 | X| X otE! £

00 ot o

0 -1000| A 2 0rel Tore 0
2JEE .

HEZIZE AL

BPTe A | Oszisas  [Ose As

[JsENEs A2

£ 27Y/4H
=t
A

O

Lo &4

it

= A|5HE WHA| Base £8 HHUGID £8 FIBHIAIL, (HHE & 222 20| ZIKELICL)
= AME0| 2IE B2 Base£ 8 HH5IY 28 FII5HY N&S0| ASELICH

20012
= 207/
B 1221
~53 RHR/AXS AE
dp 518 AT

TFBre
—(IF) N8

[PIT] X HEHLE

31 = 1000(mm)

Ttimm)

23 EZL :C24, H2ZX :SD400




